	Light hits chlorophyll and excites electrons.
	ATP is produced using some of the energy from the excited electrons.
	Carbon dioxide reacts with ribulose biphosphate.

	The six carbon compound that is produced immediately splits into two molecules of glycerate-3-phosphate.
	Light energy splits water molecules producing hydrogen ions, oxygen gas and electrons.
	Much of the carbohydrate is used to regenerate ribulose biphosphate using more ATP.

	Electrons are passed to the chlorophyll from the water.
	The rest of the carbohydrate is converted into other carbohydrates.
	The excited electrons are passed to NADP which is reduced.

	The

glycerate-3-phosphate is reduced to produce carbohydrate using reduced NADP and ATP.
	This is called the light dependent reaction.
	Reduced NADP and ATP pass into the stroma.


